
Powers and Roots Mark Scheme

1(a) 𝑎6 [1]

1(b) 𝑏3 [1]

1(c) 4 × 8 = 32 [1]

2(a) 𝑚11 [1]

2(b) 𝑚3 [1]

2(c) 1 [1]

3(a) 𝑛8 [1]

3(b) 𝑝 [1]

3(c) 32 [1] – Correct multiplier (32)

32𝑞20 [1] – Correct power (20)

4(a) 27 [1] – Correct multiplier (27)

27𝑛6 [1] – Correct power (6)

4(b) 𝑎14 [1] – Term 𝑎14 correct

𝑎14𝑔98 [1] – Term 𝑔98 correct

5(a) 81 [1] – Correct multiplier (81)

81𝑡8 [1] – Correct power (8)

5(b) 4 [1] – Correct multiplier (4) 

4𝑥2𝑦3 [1] – Correct term 𝑥2𝑦3

6(a) 56 [1] – Correct multiplier (56) 

56𝑎6𝑏9 [1] – Correct terms 𝑎6𝑏9

6(b) 4 [1] – Correct multiplier (4) 

4𝑎2𝑏3 [1] – Correct terms 𝑎2𝑏3

6(c)
(2𝑎𝑏)2 × 2𝑎4𝑏6 = 4𝑎2𝑏2 × 2𝑎4𝑏6

4𝑎2𝑏2 × 2𝑎4𝑏6
[1] – Simplifying

8𝑎6𝑏8 [1] – Correct terms 𝑎6𝑏8
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